brunner -

Assembly instructions
Design: Archirivolto



Thank you for buying a quality Brunner product from the cellu-
lar series. The versatile furniture in our cellular range is perfect
if you are looking to furnish small quiet areas and workspaces in
large halls and waiting areas. Available with or without panels,
these versatile chairs and benches can be used in a myriad of
ways.

Thanks to the 60° angled construction of the work and lounging
units, they can be set out in groups, lines or circles, making best
use of available space. Side tables that can be flexibly positioned
make for the ideal addition to the range.

If upholstered easy chairs, work tables or standing tables are
ordered with panels, the panels have to be fitted on site. These
assembly instructions provide an explanation of all of the key
components and will help you assemble your cellular furniture
with ease.



Contents

4 Overview of variants
6 Scope of delivery of upholstered easy chair with panels CE1100
7 Scope of delivery of upholstered sofa with panels CE2300
8 Assembly instructions for upholstered easy chair and sofa with panels
12 Scope of delivery of desk with panels CE1070
13 Scope of delivery of desk with panels CE1080
14 Scope of delivery of desk with panels CE4010
15 Scope of delivery of desk with panels CE4030
16 Scope of delivery of desk with panels CE3100
17 Scope of delivery of desk with panels CE3200
18 Base and panel pre-assembly
19 Assembly instructions for desk with panels
26 Further information
26 General information about assembly
26 Recommended assembly tool

27 Care instructions

30 Notes
30 Imprint



OVERVIEW OF VARIANTS

I

000000

000000



OVERVIEW OF VARIANTS

vBEvD R

CE1070 CE1080

w i i aaa

CE4010 CE4030

“ -

CE3100 CE3200

Overview of variants 4.5



SCOPE OF DELIVERY OF UPHOLSTERED EASY CHAIR
WITH PANELS CE1100

Included in scope of delivery:

12 x 5x30 Spax screws 4 x brackets

"

1 x M5x35 screws

1 x left-hand panel 1 x right-hand panel

1 x easy chair




SCOPE OF DELIVERY OF UPHOLSTERED SOFA
WITH PANELS CE2300

Included in scope of delivery:

21 x 5x30 Spax screws 7 x brackets

.

2 x M5x35 screws

1 x left-hand panel 1 x interim panel 1 x right-hand panel

1 x sofa

Scope of delivery of upholstered easy chair and sofa with panels 6.7



ASSEMBLY INSTRUCTIONS FOR UPHOLSTERED EASY CHAIR
AND SOFA WITH PANELS

ASSEMBLY STEP 1
Hook the right-hand panel into the pre-assembled fixture on the back right of the upholstered easy chair, taking care not to
press down.

§ -
j -

. — j/ i

ASSEMBLY STEP 2

Then, hook the left-hand panel into the corresponding fixture on the back left of the upholstered easy chair, again taking
care not to press down.




ASSEMBLY INSTRUCTIONS FOR UPHOLSTERED EASY CHAIR
AND SOFA WITH PANELS

ASSEMBLY STEP 3
Gently push the top edges of the two panels apart and position the M5x35 screw in the corresponding thread in the left-
hand panel. Tighten the screw until it is approx. 10 mm away from the panel.

T~

ASSEMBLY STEP 4
Now lift the right-hand panel up slightly and hook the screw from the left-hand panel into the recess in the right-hand panel
to attach them to one another.

Assembly instructions for upholstered easy chair and sofa with panels 8.9



ASSEMBLY INSTRUCTIONS FOR UPHOLSTERED EASY CHAIR
AND SOFA WITH PANELS

ASSEMBLY STEP 5
Now push the two panels down so they are anchored in the fixtures on the upholstered easy chair.

‘
: mmmmm@

ASSEMBLY STEP 6
Carefully tip the upholstered easy chair back together with the panels and place the furniture on a soft and clean surface,
such as a blanket. Position the four brackets at the recommended points between the lower edge of the upholstery and the
panel. Fix in position on the panel using an M5x16 screw.



ASSEMBLY INSTRUCTIONS FOR UPHOLSTERED EASY CHAIR
AND SOFA WITH PANELS

ASSEMBLY STEP 7

Push the panel to the side of the upholstered easy chair and align the bracket with the chair. Fasten the four brackets to the
base of the upholstered easy chair using three 5x30 Spax screws for each.

Make sure the first panel is fastened before moving on to the second panel.

——

/

Assembly instructions for upholstered easy chair and sofa with panels  10.11



SCOPE OF DELIVERY OF DESKWITH PANELS CE1070

Included in scope of delivery:

2 X M6x16 screws 4 x M6x25 screws 4 x 4.5x13 Spax screws 16 x M6x18 screws 2 x M8x20 screws

-

1 x connecting hook

1 x left-hand panel 1 x right-hand panel

1 x front left foot 1 x front right foot

1 x cross-brace



SCOPE OF DELIVERY OF DESKWITH PANELS CE1080

Included in scope of delivery:

2 x M6x16 screws 4 x M6x25 screws 4 x 4.5x13 Spax screws 16 x M6x18 screws 2 x M8x20 screws

2 x panel attach-

1 x connecting hook  ments 2 Xx M5x16 screws 4 x M6x45 screws

@ @’
/
©

1 x table top 1 x left-hand panel 1 x right-hand panel

) .
i
g

1 x back centre foot 1 x front right foot

™~

1 X cross-brace

Assembly instructions for work table and standing table with panels 12.13



SCOPE OF DELIVERY OF DESKWITH PANELS CE4010

Included in scope of delivery:

2 X M6x16 screws 6 X M6x25 screws 4 x 4.5x13 Spax screws 22 x M6x18 screws 2 x M8x20 screws

ZN 2

2 x panel attach-
2 x connecting hooks ments 4 x M5x16 screws 4 x M6x45 screws

v

1 x left-hand panel 1 x centre panel 1 x right-hand panel

L]

1 x table top

1 x cross-brace

1 x back left foot




SCOPE OF DELIVERY OF DESKWITH PANELS CE4030

Included in scope of delivery:

6 X M6x16 screws 18 x M6x25 screws 12 x 4.5x13 Spax screws 66 x M6x18 screws 6 x M8x20 screws

-~

4 x panel attach-

6 x connecting hooks  ments 12 x M5x16 screws
1 x left-hand panel 2 x centre panels 1 x centre panel

1 x right-hand S panel 1 x left-hand S panel 1 x right-hand panel

3 x table tops 3 x cross-braces

3 x back right feet 3 x front right feet

/?7,'&

Assembly instructions for work table and standing table with panels 14.15




SCOPE OF DELIVERY OF DESKWITH PANELS CE3100

Included in scope of delivery:

3 X M6x16 screws 12 x M6x25 screws 4 x 4.5x13 Spax screws 44 x M6x18 screws 2 x M8x20 screws

-

3 x panel attach-

4 x connecting hooks ments 8 x M5x16 screws
1 x left-hand panel 2 x centre panels 1 x interim panel 1 x end panel

D.

1 x table top

2 x back left feet 2 x back right feet 1 x front right foot




SCOPE OF DELIVERY OF DESKWITH PANELS CE3200

Included in scope of delivery:

3 x M6x16 screws 12 x M6x25 screws 4 x 4.5x13 Spax screws 44 x M6x18 screws 2 x M8x20 screws

-~

3 x panel attach-
4 x connecting hooks ments 8 x M5x16 screws

1 x right-hand panel 2 x centre panels 1 x interim panel 1 x end panel

-

1 x table top 1 x table top

View from below

1 x cross-brace

1 x front left foot 1 x front left foot 2 x back left feet 2 x back right feet 1 x front right foot

Assembly instructions for work table and standing table with panels 16.17



BASE AND PANEL PRE-ASSEMBLY

Affix the connecting hook to the pre-drilled place on the base. Secure with screws (M5x16).

e
S

Affix the panel attachment to the pre-drilled place on the panel. Secure with screws (M6x45).



ASSEMBLY INSTRUCTIONS FOR DESKWITH PANELS

The following steps also apply to models CE1070, CE1080, CE4010, CE4030, CE3100 and CE3200

ASSEMBLY STEP 1
Insert the legs into the recesses provided on the table and tablet and secure them using the SeKo M6x18 screws provided.

Assembly instructions for desk with panel 18.19



ASSEMBLY INSTRUCTIONS FOR DESKWITH PANELS

ASSEMBLY STEP 2
To connect the table to the tablet, stand the table up and place the tablet on the protruding base. Then tighten all the
screws.



ASSEMBLY INSTRUCTIONS FOR DESKWITH PANELS

ASSEMBLY STEP 3

To install the panels, place the panel so that the plastic block on the inside of the panel is level with the front leg of the table.
Slide the plastic block into the groove on the table leg. You can then put the screws (LiFlaKo M6x25) in the upper section of
the table leg and screw them lightly. Please do not tighten the screws yet.

Assembly instructions for desk with panel 20.21



ASSEMBLY INSTRUCTIONS FOR DESKWITH PANELS

ASSEMBLY STEP 4
All of the other panels are assembled in the same way.
Hook the next panel onto the first one fitted then use the screws to secure to the table legs and tighten slightly.



ASSEMBLY INSTRUCTIONS FOR DESKWITH PANELS

embly step 4

See ass



ASSEMBLY INSTRUCTIONS FOR DESKWITH PANELS

Attach the reinforcement
Iat to the table legs
2 x SeKo M8x20

2 x SeKo M8x20

5 x RuKo Spax 4.5x13

ASSEMBLY STEP 5
Fitting the reinforcement slat underneath the table top. Use the 2 x SeKo M8x20 screws to screw the reinforcement slat to
the table legs and tighten with RuKo Spax 4.5x13 on the table top.



ASSEMBLY INSTRUCTIONS FOR DESKWITH PANELS

ASSEMBLY STEP 6

The inserted plastic blocks can now be tightened. Tighten the still loose connection first with a screw clamp then, using a
drill, drill a hole (5 mm in diameter) in the plastic block and secure it to the table leg with an M6x16 screw. All of the other
still loosely positioned screws can then be securely attached.

Assembly instructions for desk with panel 24.25



FURTHER INFORMATION

GENERAL INFORMATION ABOUT ASSEMBLY

The assembly instructions provide general guidelines for assembling your cellular furniture
-The steps described are to be followed for all cellular chairs and tables

- The assembly tools suggested are simply recommendations from Brunner GmbH
- Only the materials supplied may be used for assembly

- Brunner GmbH accepts no liability for damage caused during assembly

ASSEMBLY TOOL FOR CELLULAR FURNITURE

Cordless screwdriver with hexagon and cross insert plus screw clamp and drill bit measuring 5 mm in diameter



CARE INSTRUCTIONS

Careful and proper cleaning of the surfaces of your cellular table is particularly important to keep it in optimum condition
for as long as possible. The following cleaning instructions are only intended as a recommendation. Brunner GmbH will not
be held liable for damage to the finish caused by improper cleaning.

Cleaning the powder-coated steel tube frame

For normal use, it is sufficient to wipe the metal surfaces with a clean, dry dust
cloth. Any particularly dirty areas can be cleaned with a standard, grease-
dissolving all-purpose cleaner. Please only use soft cotton cloths for cleaning
purposes and never use plastic sponges, wire wool or steam jet devices, which
could permanently damage the surface. Never use abrasive cleaning agents or
toilet or sanitary cleaners. The gliders' surfaces should be regularly cleaned of
coarse pieces of dirt or deposits. External factors, such as weight and humidity,
can cause the gliders to wear out or slip. Coarse dirt and deposits should be
removed from them regularly. The usual level of care is required when replacing
the gliders.

Cleaning cover fabrics

Upholstered surfaces need regular care as they constantly come into contact with dust and dirt. In general, soiling should
not be allowed to build up too much or be left too long in order to avoid making cleaning more difficult and to extend the
life of the product.

:’\‘»'s'i-'-'-"«'u'-":”,“n".'e"o".-'e e a8 AN Clean fabric covers from the Brunner standard range using an upholstery brush
: TR E R o Wt or a vacuum cleaner attachment suitable for cleaning upholstered furniture.

AL :,,:,;,:,:.:::,;,:.‘:.1.'.;1,' Depending on the level of soiling, it may be advisable to use a soft, damp cloth
nAaa b “nr': : :n:I:l':q:r:f::n;t:n:':q:'nzs: and a little detergent.

| J | | 4 g:y-9:-8.1
I:D:l:.'ﬂ:l:!:f:D’!:!:ﬁ:':l:!'l:!:ﬁ:ﬂnuuﬂnﬂ’C’1’)
U a DoRCR 00 s Lol Sy Lol g

For more information about cleaning fabrics, see the fabric cards for the fabric
collection in question.

: Please note that some dark fabrics can cause staining. The fabric colour of
. .:,‘..:,..’,:.:,:.: o clothing can be 'Fransferred onto the upholstery'after coming into contact just
itk once. The result is a permanent, non-soluble stain.
'a'w"n'a"n'é LN o r
-CI"'I'E"B!! Bﬂ!!‘!‘)?l'ﬂ
N 8- 00200 A2 0 0-0.N.0:00

g:p-v.a I’lﬂ"l'l'ﬂﬂﬁ(oﬂl"'ﬁ
1 N ' lql n U D ﬂ | !aﬂ L I a n "Q L) ! * Hpi

Regularly remove dust and light soiling from leather covers using a dry or
slightly damp cloth. Gently rub dried-in dirt with a weak neutral soap solution
and a soft cloth. Afterwards, wipe over to dry and apply a suitable leather care
product while observing the manufacturer's instructions for use.

Do not use solvents, cleaning petrol, stain removers, spirit, shoe cream or the
like.

Imitation leather is best cleaned using a clean, slightly damp chamois cloth.
Please note: Do not use care products for real leather. Resoiling often occurs
due to the use of conventional household detergents and cleaning agents.
When using cleaning agents, please observe the cleaning agent manufacturer's
instructions for use and always test the suitability of the cleaning agenton a
concealed area first to avoid discolouration or abrasion.

Further information about assembly and care instructions 26.27



CARE INSTRUCTIONS

General cleaning of table tops

As a general rule, we recommend cleaning with a lint-free cloth dampened with
pure water without any added cleaning agents or furniture polish. Afterwards,
dry off the surface of the table with a clean, soft cloth. Never use silicone-

based polishes, strong ammonia, alcohol or plasticiser-based cleaning agents.
The same applies to abrasive cleaning agents containing scouring agents.

Cleaning table tops with high-pressure laminate

Clean the surface with warm water and then dry it with a paper towel or soft
cloth. For heavier soiling, such as adhesives or lacquers, organic solvents such
as ethanol, acetone or nail varnish remover will be needed. The cleaning agent
should not contain any abrasive ingredients, as they could lead to changes in
the gloss level and scratches. We recommend leaving the cleaning agent to
work as required depending on how dirty the surface is. Afterwards, wash off
with water and dry. Remove any remnants of the cleaning agent to prevent
streaks from developing. Please do not use wax-based furniture polish or
cleaning agents, as they are inclined to build up in the texture of the HPL finish
and result in a sticky, unattractive layer that attracts dirt.

Cleaning table tops with oak veneer

Clean regularly with a soft, lint-free cloth. With normal use, it is enough to
remove dirt from the surface once or twice a year with a damp cloth. Use
water mixed with a small amount of commercially available mild detergent

to dampen the cloth. Then, while the surface is still damp, wipe it with a soft,
clean cloth in the same direction as the wood grain. Avoid rubbing hard, as this
can cause differences in finish to occur with matte surfaces. After lengthy and
heavy use, the lacquered surface can be cleaned with a commercially available
furniture polish. Please note when using the table that, if liquids are spilled on
the surface, these must be wiped up immediately to avoid marks. Please refer
to the applicable manufacturer's instructions for use and, where appropriate,
check suitability in an area on your table that is not visible.



Care instructions 28.29






Notes

For details, prices, terms and conditions, refer to the current
price list. We reserve the right to technical changes, errors
and colour deviations. Some models are displayed as special
versions that are subject to additional costs.

Imprint

Product design:

Archirivolto

lllustrations:

Andreas Stapel . Brunner GmbH

Text:

Brunner GmbH

Design:

Brunner GmbH



www.brunner-group.com
© Brunner GmbH 2019 .. Im Salmenkopf 10 . 77866 Rheinau, Germany
T.+49 78 44 40 20 . F. +49 78 44 40 28 00 . info@brunner-group.com

082019



